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] ONO KEY | ONO KEY | QNO KEY | QNO KEY | ONO KEY |
] 1 D | 3 A | 6L C | 91 C 121 D |
|l 2 B | 32 D | 62 B | 92 A 122 cC |
] 3 D | 3 Cc | 63 D | 93 C 123 B |
|l 4 D | 34 A | 64 A | 9 B |124 D |
] 5 B | 3 A | 65 D | 9 D |125 A |
|l 6 A | 3% D | 66 A | 9% A 126 C |
| 7 A | 3 Cc | 67 A | 97 C 127 C |
|l 8 D | 38 A | 68 A | 98 C |128 A |
] 9 ¢ | 39 B | 69 A | 9 B 1129 D |
] 10 D | 40 B | 70 C 100 B |130 B |
] 11 D | 4 B | 71 A 101 A 131 C |
| 12 B | 42 A | 72 A 102 B |132 A |
] 13 B | 43 B | 73 B |]103 C |133 B |
| 14 C | 44 Cc | 74 A 1104 A |134 C |
] 15 D | 4 D | 75 B |]105 A |135 A |
| 16 D | 46 D | 76 C 106 A |13 C |
| 17 ¢ | 4 D | 77 D 107 B |137 D |
] 18 D | 48 B | 78 D |108 A | 138 B |
] 19 A | 49 B | 79 C 1109 D |139 D |
] 20 D | 5 B | 8 B |110 C | 140 B |
|] 22 D | 51 D | 8 C |111 B | 141 C |
| 22 A | 5 D | 8 A 112 D | 142 A |
]| 23 A | 53 A | 8 C |113 A ]|143 D |
| 24 ¢ | 54 D | 8 A |114 D | 144 C |
| 5 A | 5 B | 8 B |115 C | 145 A |
|] 26 D | 5 D | 8 A |116 C | 146 A |
| 272 D | 5 A | 8 C 117 C | 147 D |
] 28 B | 58 C | 88 A | 118 A | 148 C |
|l 29 D | 5 A | 8 A 119 D | 149 B |
] 30 A | 60 D | 9 C |]120 A |15 B |
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According to the Union Budget 2023-24, how
many skill India international centres are to be
set up across different states to skill youth for
international opportunities?

(a) 50 (b) 40

(c) 20 (d) 30

Who among the following has authored the book 2.
“Spare”?

(@) King Charles (b) Prince Harry

(€) Prince Phillip (d) Prince Williams ;

What do we call balancing the need to use
resources and also conserve them for the future?
(@) Reducing (b) Future resources
consumption
(¢) Resource
conservation

(d) Sustainable
development

Given below are two statements, one is labelled _ 4.

as Assertion (A) and other as Reason (R) —
Assertion (A) — The President is a part of the
' Parliament.

Reason (R) — A bill passed by the two Houses of
the Parliament cannot become a
law without the assent of the
President.

Select the correct answer using the code given

below -
(a) (A) is true but (R) is false
(b) Both (A) and (R) are true but (R) is not correct
explanation of (A)

() (A)is false but (R) is true

(d) Both (A) and (R) are true and (R) is correct
explanation of (A)

‘Milind Panho’ is in the form of a dialogue 5

between King Milind and Buddhist Saint. The
concerned saint was -

(a) Nagarjun
(€) Kumaril Bhatt

(b) Nagasena
(d) Nagbhatt

Which of the following statement is true? 6.

(@) Ocean salinity is maximum at the Tropic of
Cancer and Capricorn.

(b) Tide comes on the earth every day after
exactly 12 hours 30 minutes.

(c) Benguela current is a cold current of the
pacific ocean.

(d) If the sun, the earth and the moon are in 3
straight line then this situation is the situation
of small tide.
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With reference to the «

following statement/s is/itﬁ“l:r?e::t\.:hich of the 7. “ye-drr @ wed § fyefafad do A A
(1) El = Nino involves appearance of war N W/ A uh R/ E?
@) c;::f:‘:;:;‘:s rCroas';t of Peru in eastern pacnf:1 (1) e Ao A gt g &1-‘:1_.’5'1 W # dc T
ol WakiTon theepnerlnc.rease the temperature TH GRIA &1 Ydbe BT TiHA | |
by increasing the aUVlan coast by 10°C there (2) e T g 9% & g2 9 g @ JgHEE B
sea. mount of Plankton in the 10°C a% g1 28 & fored oz ¥ ided
Select the corre ; _ ) ura qg A 2
o, ct answer using the code given fa f2o o g @ T 3R qfw
Code - @
@) Only 1 (b) Both 1 and 2 (a) BaA 1 (b, =yt 1 U4 2
(¢) Only 2 (d) Neither 1 nor 2 (c) ®ad 2 dy a1 #2
8. Who among the following women freedom 8  fasifafrasn 6 1 v o wpray warh apd
fighter was not associated with ‘Quit India 5 oA % o
Movement'? B8 WiEAd A wafar 4 ¥
(@) Matangini Hazra (D) Kanak Lata Barua (a) mrafoh zraa- b) FAF A TFH
(€) Aruna Asaf Al (d) Shanti Ghosh (C) IAFUN ITHE el b 73 o
9. ‘Mount Newman’ is famous for which of the 9 ‘#rgve =g fs=ifaiaa = = 7 =
following minerals? g 87
(@) Copper (b) Bauxite (a) aTar by T
(€) Iron ore (d) Manganese (©) Sirg sTeF &) #rdz
10. On 25™ December, 2022, which of the following 10 25 fagmaR, 2022 #1 ==r=57 = = 57 27
:ountries extendhed man::lator: Militarz Servifr;es ERT 1 99a9, 2005 @ @1% &= =7 5T F A
or one year to those males who were born after A R g
01 January, 20052 T Ak B A AR 39
(a) Myanmar (b) Afghanistan (a) =R b). FETTAET
(¢) Sri Lanka (d) Taiwan (c) e (d) FFTH
11. Consider the following statements concerning 1. #%l Seas =ymem @1 75 S0FT & &
the powers of the Supreme Court to issue certain A @ for Re I &= & o1F & Hag #
writs to stop violation of Fundamental Rights — a1 sy Ry U E7 _ )
(1) The Supreme Court has power to issue writs (1) STEAH IUTAY & I8 7idd 939 8 1D 98
like Habeas Corpus, Mandamus, Prohibition, T8 yeev, owwew s IRER -
Quo Warranto and Certiorari which is geaT AR A Re. @ A g et 3
appropriate for the enforcement of AN A9 @ AU wiaa 8 99 Re &1 wam
Fundamental Rights. e e ¥ ..
(2) Parliament may by law empower any other (2) ¥HE O JMBR & 76 a8 FE a7 F
court to exercise within its jurisdiction the R B TS R D R | I S E N RG I
powers given to Supreme Court. RMral @ MR Feads AT o e T
Which of the  above mentioned vifdera) &1 wanT &R Hadl 2 |
statement/statements is/are correct? IUAad AT Y ?fﬁ?ﬂﬂ /9 IR G & /7
Select the correct answer from the code given A Ry T ae § 4 Wl SR @ T
below - BT —
Code - aC —
(@) Neitherinor2  (b) Only1 @adaima2 0 daw 1
(c) Only 2 (d) Both1and 2 (c) Had 2 (d) 1R 2 T
[C-1-23] 153101 Page 3 of 32
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g7 % q¥dh, FeR wEE A Wi P AT FIT e
1 '

' ; ; 12.
12 Who was the leader of rebellion in Bareilly, Uttar @ @ qEIgY T
Pradesh during 18577 CUSISISLES) s wae fiE
(@) Nana Saheb (b) Khan Bahadur Khan (¢) goRd HEHA (d) A
(€) Hazarat Mahal (d) Kunwar Singh s it ﬁ;.—.rﬁqﬁga HAl W fdaR
13. Consider the following statements with 13 IR U3« &
reference to Uttar Pradesh — #Ifary — . \ T 12.8%
(1) Forests constitute about 12.8% of the total (1) 194 & ded qrmferd ed d1 AT T/f.____o
geographical area of the state. a2
(2) The districts of Jaunpur, Ghazipur and Ballia , e Sl o die
sy, gy sie aferan forem # @8 a9
have no forest land. (2) ”W'_ m Mg 3
Select the correct answer from the code given ufa el 2 7~ |
below - Mg Ay v ge 4 @f I gfao -
Code - T —
a) Nei (b) B
(@) Neither 1 nor 2 ) Both 1 and 2 (a)qfleﬁTE‘TZ/ (o) 71T 1 vd 2
() Only 2 (d) Only 1
(c) Baa 2 (d) #94 1
14. With reference to the Pope Benedict XVI, who 14. a9 g4feae Arded, a1 g 21 9 fAue g4,
died recently, which of the following statement/s ® g=q | f=fofaa o= 5 5 313 @1/9
is/are correct? LEEYAL
;.:e was tahnaffiv: :f Ge:manY. - 1. 98 9 & 5 frare 9|
. He was the first Pope 0 resign in years. 2. 78 6009 § FlHT 49 AT TES A o)
Select the correct answer using the code given : X -
below — :ﬁ?}ﬁ'ﬁﬂﬁﬁ‘dﬂﬂ'ﬁw giid —
Code - %e -
(@) Neither 1 nor 2 (b) Only 2 (@7 ar19m & 2 (b) T 2
(c) Both 1 and 2 (d) Only 1 (¢) SFY 1 Tg 2 (d) Fae 1
13- Non-conventional energy sources are those 15. R-IRIRS ol @ 7 w5 & 71 5 -
energy sources, that are - . | S
(@) Produced from heat (b) Produced from @) st @ (b) fgeata &
electricity (© IR—=dwvelig & () FdFeoia @
(©) Non-renewable (d) Renewable 5
16. Plane of which Airline crashed in Nepal in 16 G=adl 2023 % frg UIRATSH &1 M F9rey 9
January, 2023? JHEATIRT gaHl?
(a) Nepal Airline (b) Tara Airline (a) =TT YaReEH (b) TRT TR
(¢) Buddha Airline (d) Yeti Airline (©) g1 TR (d) afy varay
17 Tappa style of music was refined and developed 17 wflad @ eur I frafafag o o e o
in which of the followi g . ,
?ou\:/t ?ICh ollowing Mughal Emperor’s T B TR Y Rpd v Rafig £4?
(@) Jahangir (b) Shahjahan (a) STETiR (b) wmETET
(€) Muhammad Shah  (d) Akbar (€) =g e 9 IR
18. Where was the “Sudarshan Prahar Army 18. feeR, 2022 ¥ “gevla wER W=y A" e
Exercise” carried out in December, 2022? fosar mar or?
(a) Madhya Pradesh (b) Uttar Pradesh (a) 7&g youT (b) IR ey
(©) Gujarat (d) Rajasthan (€) T[T (d) YroTvers
Page 4 of 32
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20.

21.

' I and select th .
answer using t ; € correct 19. —1 B g1 A GAfera Py qen il @
List - Ilng he code given below the lists ﬁ faw nf{ﬁgﬁ H & IO Pl gﬁq —
(A) Article - 324 T - |
(B) Article - 315 (A) FTEE — 324
(C) Article — 280 (B) 3T — 315
(D) Article - 338 (C) AT — 280 .
List - 11 (D)@WJ 338
(1) National Commission for Schedule Cast m—aﬂqﬁa ST
(2) Finance Commission © astes E;f&ﬂ h Y
8; I;Iubli'c Seévice C_orpmission (3) A ar AT
coc’ee-ct:on ommission (a) Pate g
m i
(a) A-(4), B'(3): C-(2), D'(l) (a‘\) A'(4! B-(3) C-(Z) Q-(l)
() A-(3), B-(2), C-(1), D-(4) (b) A-(3), B-(2), C-(1), D-{4)
(©) A-(1), B~(3), C-(4), D-(2) (¢) A-(1), B-(3), C-(4), D-(2)
(d) A-(3), B-(2), C-(4), D-(2) (d) A-(3), B-(2), C-(4), D-(1)
With reference to the Attorney General of India, 20. WRd & HeFOTIaTd! & wew ¥, Frfafad weml
which of the following statement/s is/are ¥ Y P 9/ F8 2/%°
cryect? (1) FEEAE @ UT R W afi A Pl
(1) A pgrson i:s .appointed as _Attornev General, af o 5 Saew e F1
who is qualified to be appointed as a Judge of ' J
the Supreme Court. frgam @R @ fore aifea &1
(2) The Attorney General can be removed (2) FETUTEETE B SFS U9 W T whHAr @
through the same process as the Judges of the T O T & o 5 S=a =mey @
Supreme Court. e @B |
Select the correct answer from the code given ) Ry U B ¥ GE SR I T #foT —
below - 7 — °
ol @ T 170 2 () 7 a 177 & 2
(a) Both 1and 2 (b) Neither 1 nor 2 Q) St
(¢) Only 2 (d) Only 1 (c) dadt 2 | 1
Given below are two statements, one is labelled 21. #/ &1 YA T Rl ¥ e @ AfNSYA (A)
as Assertion (A) and other as Reason (R) - iR TER B BR (R) FET T R —
Assertion (A) - Population control is necessary to ) SN
maintain the environment .Of the Afmu (A) .g; @ '_ﬂm ' aﬁ T 8
country. G';_”'@' fp s
Reason (R) - Due to the rapid increase in FROT (R) - TG ¥ dg qﬁg B PR GGG
population, the environmental e @ <& 3
balance is maintained. 4 R T BT A 98 IR 'gﬁm B
Select the correct answer using the code given 2
below - L
Code - . (a) (A) 3R (R) ST W B fbg (R), (A) B FH
(a) Both (A) and (R) are true but (R) is not correct T T8 e
explanation of (A))_ (b) (A) e & g (R) W 2
(b) (A) is false but (R) is true o .
(c) Both (A) and (R) are true and (R) is correct (c) (Eggﬂ“'\' a(sg;n a‘f;‘f | & 3R (R), (A) & ¥&
explanation of (A) L_(/ s N
(d) (A) is true but (R) is false (d) (X) v @ fdeg (R) o
1(;-i-i‘3i_i‘5710| Page § of 32

LT



22. Which of the following events was the last in 22.
chronological order?

(@) Moplah Revolt (b) Khilafat Movement

() Home Rule (d) Jallianwala Bagh

Movement Massacre
23 Match list-l with list-ll and select the correct 23
answer using the code given below —
List -1 List-11
(Mountain) (Countries)

(A) Kilimanjaro (1) Morocco

(B) Toubkal (2) Algeria

(C) Stanley (3) Tanzania

(D) Hoggar (4) Uganda

Code -

(a) A-(3), B-(1), C-(4), D-(2)

(b) A-(4), B-(2), C-(3), D-(1)

(c) A-(3), B-(4), C-(1), D-(2)

(d) A-(4), B-(3), C-(2), D-(1)

24. Match list-l with list-Il and select the correct 24.
answer using code given below —

List- | List- Il
(Diseases) (Factors)

(A) Peptic ulcers (1) Virus

(B) Dengue (2) Protozoa

(C) Elephant Foot (3) Worm

(D) Malaria (4) Bacteria

Code -

(@) A-(4), B-(2), C-(3), D-(1)

(b) A-(3), B-(4), C-(2), D-(1)

(©) A-(4), B-(1), C-(3), D-(2)

(d) A-(2), B-(3), C-(4), D-(1)

25. With reference to the composition of the 25.
Legislative Council in a state of India, which of the
following statement/s is/are correct?

(1) In the Legislative Council there may not be
more than one-third members of the total
membership of the Legislative Assembly of
that state.

(2) The Legislative Council of a state must have at
least forty members in it.

Select the correct answer from the code given

below -

Code -

(a) Both 1 and 2 (b) Only 1

(c) Only 2 (d) Neither 1 nor 2

Page 6 of 32
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& 3fe ? frefafad geBi § 4
Ay aifem of? :
@ mu;ﬁqﬁa’tg @ (b) R iarers |
() 8 a ered_ (d) STerIarer arAg(
BEIIS |
1) g1 @ qafer B a3
S ngﬁw & I 32;* )
-1 -
]?(!?a) (@)
(A) et (1) D!
(8) camet (2) sresfifea
() v ) dtan
(D) &1} (4) FrrST
'@ e

(a) A-(3), B-(1), C-(4), D-(2)
(b) A-(4), B-(2), C-(3), D-(1)
(c) A{3), B-(4), C-(1), D-(2)

- (d) A-(4), B-(3), C-(2), D-(1)

-l BT WA-I  Fafera FifAw aar e
T HE P YA ISP GEl IR FH gAE

Ffere —
T -1 g4t -1
(enf®) (@)
(A) uftes gor (1) farmoy
B)ST - (2) HTETA
(C) ®Iet dfg (3) T
(D) Failar (4) fawTTy
a,_d’__

(@) A-(4), B-(2), C-(3), D-(1)

(b) A-(3), B-(4), C-(2), D-(1)

(c) A-(4), B-(1), C-(3), D2

(@) A-(2), B-(3), C-(4), D-(1)

IRd & U 9 ¥ fur oRwe & Teq & g

4, A | P/ s wd 2/

(1) Uo faemr aRee # 99 o & R«
T W W1 B 0P e W e wew
81 & 9hd 2 |

(2) T® 59 B Ao uReg & o9 3 59 =i
SR I & B =Ry A~

T Ry T Hg | T SR &1 777 Afdg —
W_

(a) gAT 1921 2 (b)mll

(¢) dadt 2 @aarird2
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26. Which of the following is known as “World 26.

27.

28.

29.

30.

31.

Wetlands Day”?
(a) 10 January

) 1F
(¢) 15 January ehiiaey

(d) 2 February

In which year, “Mid-day Meal Scheme” was

renamed as “P.M. Poshan Scheme”?

(a) 2020 (b) 2019

(c) 2018 (d) 2021

With reference of the election of the Vice -

ﬁﬂﬁﬂﬁﬂm"f&wmﬂm"a%ﬁﬁ
# ST SATT 87

(a) 10 WA (b) 1 HRa
(¢) 15 SrTad (4 3/mead
-'%ﬁuﬁgwmﬂaanFW'&ﬁ”iggijﬂmﬂjﬂiﬁﬁéﬁ
farer ad geifaa faar ma
(a) 2020 # (b) 2019 #
:3/5013 G| (d) 20219
28. /qRd @ W fratas, 59 @dr=

President of India, which is declared void bv the - >~ 2AATATAA G0 g];:] urfqd f;m]’ ma ? & ‘H‘d‘&i f-'f’

Supreme Court of India, which of the following

statement/s is/are correct?

(1) The acts done by him as Vice — President
before such declaration are considered valid.

(2) The acts done by him as Vice — President on
the day of such declaration are not considered
valid.

Select the correct answer from the code given

below -

Code - ‘

(a) Both 1and 2 (b) Only 1

() Only 2 (d) Neither 1 nor2

Which among the following ruler of Kashmir
abolished Zaziya and Cow Slaughter?

(a) Sikandar Shah (b) Shamsuddin Shah

(c) Haider Shah (d) Zain-ul-Abidin

Hangul-deer is found in which part of India?

(a) In Jammu and (b) In Assam
Kashmir '
(¢) In Rajasthan (d) In Kerala
Consider the following statements about

sustainable development —

(1) Based on the global indicator framework and
data produced by National Statistical
Systems and information collected at
regional level, the United Nations Secretary
General presents an Annual Sustainable
Development Goal Report.

(2) Global Sustainable Development Report is
produced to inform the quadrennial
sustainable development goal review
deliberations at the U.N. General Assembly
once every quarter.

Select the correct answer using the code given

below —

Code -

(a) Only 1

(c) Both 1and 2

(b) Only 2
(d) Neither 1 nor 2

fre W B W/ B T 2R

(1) Suvrgufa @ %q # z@ yHrR #1 9een |4 9@
Sud gRT ey Ty FrAfafa wa g g

(2) SWIEHd & w9 & 3H FEE B AN g
& R swe g By U T G A
B 2|

S Ry MU g @ A IR F FIF AT -

6T —

(@) 2T 172 2 (b) a1
(c) dacl 2 (d) 7 a1 17 & 2
29. fr=fefed § @ R @ 5w TEE 7 Tl
iR Y g B AT BT
(a) rpex WE (b) T=GEH T
(©) e (d)w

30. ﬂmﬁTﬁ%ﬁhvrﬂﬂwfigﬁgi:gfzfrﬁnvvﬂﬂn1aﬁﬂ

{4
(o) o iR TR A (b) I F

(c) o= # d) IS H

31\ Guyroig Rem & wof A fAefarag dUEl W

faar Fifog —

(1) Mad @S /XA T I RS
gRE ERT WA (@ & MR W
Fofod qEa B MR W IR ITK
Hergfid e diffe SuRvia e e

R wga IR 2 |
(2) ¥R wuwig Rer R & A @ga
g AETHA A TR e

&g @ gl &1 gaREetie H
STl B ¥

ATg HINY —

az\?_

(@) Badt 1 (b) Baat 2

(c) BT 174 2 @adr1a1d2

[C-1-23] 153101

Page 7 of 32

VAN



32 Natural resources should be used by the present : _ ) i
e s fan ¢ 6 SpRAP T T i

generation in such a way that if there is minimum

degradation of natural resources, then what kind < o 78 e GPR BT fApTa HEATR?
of development would it be called? &R el ‘
(@) Economic (b) Organic @) anfefs fawrd (b) Sifd
Development Development -
d) cid fderd
() Social Development (d) Sustainable (c) qrTfTd fawra .(__)_____..._-—-_-
) Development i 3
araardt QrI2ATd B dveq
33. Which Indian origin businessman has been 33 WRd Ha & f&d

elected as Mayor of London Borough of qq‘T_ G AR L Ed F{g{ﬂ g gAT Tl g7

Southwark for the second time? (af Tian e (b) w5 gifes
(@) Gautam Adani (b) Neeraj Patil = s (mm
(€) Sunil Chopra (d) Sam Dalton I et
34. Consider the following events and arrange these ) 34. fr=ferRad gl g faar @i a1 g2 a8
in correct chronological order starting from the * HTATIHH ¥ eraftga #1fHv, @49 98d 9 AR
earliest to the last activity — aRady wfafafy a5 —
(1) Appointment of the Drafting Committee (1) 9T AR 2 P _/
(1) Indian Constitution was adoptefl and enacted () i P W = wre wfafd
(Ill) Date of commencement of Indian - 2
_ .
Constitution ‘.:}, il _ " p—— & e

(IV) Constitution Assembly first met b : )
Select the correct answer from the code given = (IV) 6 91 &1 wemm dod

2 AR Ry B W wE SR @7 aaT F i -

below -

Code - @e —

@ v, 1,1, m (®) 1, 1, 1v, @ v, 1,11, ®) 1,11, 1v, Wi
/.-.L...;__a LY ’

© v, 1, m,n @ m,u,1,1v € 1v, 1, 1, 1 () 1, u, 1, v

35. According to Economic Survey 2023 about - 35. arell & AR ¥ anffe wderor 2023 | A

services, which statement among the following |sI A g T8 TE 2

not correct? 1.. g
(] [
(@) Fashion, grocery and general merchandise (@) BeF, T 3R SRer weeE 2030 9@

AR §-M IR B FTHT o1 faEre

will be captured nearly two-third of the Indian

e-commerce market by 2030, e & sruAr e <

(b) P.M.1. services witnessed strongest expansion (b) drow.ag. Fawsit § 2022 g § wa g
since July, 2022. ‘ ~ EESINEEC]] T |

(c) 75 digital banking units announced forl () 75 fSforea 9P sl o e 5
transforming financial services. f-_': ARl Y age B fow @ g 2

(d) Credit growth to services is above 16% since - (d) W 2022 ¥ BfST My AT 16% 3 TR
July, 2022. 2

36. Which of the following (Poetess — Compositions) ~ 36. ﬁ'ﬁlﬁlﬁflﬁ 49 39 (wafd — Ui®) el

is not correctly matched? gafora el 27

(@) Daya Bai-Vinay  (b) Sahajobai - Sahaj (@) TImErE - famg (b) wESEE — ey
Malika Prakash Hferan Pt

() Son Kumari - Poem (d) Gangabai — Ganesh (©) W9 HARY — ol () TEE — Toper 39
of Swarn Beli Dev Leela It B Hfaar e

=T Page 8 of 32
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38.

39.

40.

41.

(C-1-23] 153101

37.

James —|.
(2) He was very wel| ye
(@) Both 1 and 2
(€) Neither 1 nor 2

rsed in Turkish language.
(b) Only 1 '
(d) Only 2 1

Consider the reign of followin

arrange them in chronological o

(1) Balaji Viswanath

(1) Bajirao |

(1) Narayan Rao

(IV) Madhav Rao |

Select the correct answer using the code given,
below -

|
g Peshwas and '’ 38.
rder — ‘

X))

Code - [ ;
@ 1,1, 1V, Nl (b) 11,1, 1V, 1 o
© 1,1, m,Iv @ 1,m,n, v '

Consider the following deserts and arrange them 39
in increasing order of their size (from smallest to
largest) —

(1) Great Sandy desert I
(1) Arabian desert o
(Il1) Sahara desert ke
(IV) Gobi desert <
Select the correct answer using the code given’

below -

des gifa @ el ¥, PwfaRaa wuHl 4 4
P AT qE R?

(1) 9% 16119 R —| & g & ©Y # HRA
7 3|

(2) & @1 AT BT qET TV ST AT |

(a) g 1 721 2 (b) BHaet 1
©adar1am& 2 (Q)/Zjaz

frafefaa el & s era w faar ST
dl I HIABATAR Faftera S —

(1) TSt fareamm

(DESIKER

(1) AARTIOT 7

(IV) Terd <19 |

9 g T FE @ wE I g -

az\?_

@, 0v, (®) 11,1, 1V, 1

(© 1,1, 1, Iv (d) 1, 1,11, 1v
frafafed WaEt w® AR #ifsu g o=
ISP BN @ dad HH H Fyaivem Ty (Fdd
B ¥ 9y fawyd d®) - =
(1) I AU HHRA

(1) 3RfeT wovre

(I1) FERT AR =

(IV) T THeere

92 Ry TU g | 98 ST g -

@ n,1,m, v (B) 1, 1v, 1, M -

\(Jl, n,@l_ (@ 11, 1,40, 11D~
Prafefag 3 @ /A =T &1/ 1R
g/8?

(1) ot (o=w) fRelan

(2) wamier Fefa

(3) efdaRa e

(4) wepTaTe e

) fu U He ¥ wE SR BT gAY -

) dacl 1 T4 4 (b) Had 1, 2 Vg 3
) ®acT 3 T4 4 (d) It 1 IR 2
%ﬁﬁm@ﬂﬂ%ﬁ'@'mmﬂw

(a) S faramT 1 FeT (b) ISR FR T HRA
(___/
S IBEaR qrell

(c) TATIR Uga drell (d) Sat &1 geme
o C\BEar

@ u,1,m, v (®) 1,1v, , 1l
©) 1,1, (d) 1,1, 1v, 1l
Which of the following is/are the type/s Of*fi’ 40.
poverty? r( =
(1) Absolute poverty =
(2) Relative poverty "
(3) Subjective poverty
(4) Functional poverty
Choose the correct answer using the code given
below -
(a) Only1and 4 (b) Only 1,2 and 3
(c) Only 3and 4 o(d) Only 1and 2
Which officer was known as ‘Bhagadugha’ during 41.
Vedic administration?
(a) chief Officer of the (b) Revenue Collector
Gambling
Department .
(c) Messenger (d) Chief Officer of
Forests
Page 9 of 32
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42. Which one of the following is the main objective

of Janani Suraksha Yojana?
(a8) Reduction in maternal and neo-natal
mortality rate
(b) Reduction in maternal mortality rate only
(¢) Reduction in infant mortality rate only

(d) Reduction in neo-natal mortality rate only
43. What was the name of the female Regiment

constituted as a part of the Azad Hind Fauj by

Netaji Subhash Chandra Bose?

(a) Veerangana (b) Rani Jhansi
Regiment Regiment
(¢) Rani Bhabani (d) Bharat Mata
Regiment Regiment
44. Which of the following statements is correct

about laterite soil?

(1) This soil is developed in areas with high

temperature and heavy rainfall.

(2) It is poor in iron oxide and aluminium.

Select the correct answer using the code given

below -

Code -

(@) Neither 1 nor 2 (b) Both 1 and 2

() Only 1 (d) Only 2

*5. Who among the following translated 300
volumes of Sanskrit books collected by Firoz
Tuglaq during the campaign of Nagarkot?

(b) Mulla Abdul Bagi

(d) Azizuddin Khan

(@) Talib Amuli
(¢) Mirza Muhammad

Ali

42.

43.

45,

1-23] 15310]
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et A W P T G AT
g S B
(a)wﬂﬂamw
(b) et g TG A A P
(c) dat forg gg X A FH
(@) dhae Ao g R A P

ﬂﬁﬁw

Jarht g g dd g1 A @ B @

—e

feet @ wu § nfea afzen Moz &1 F1 M

e ——"
7?

(a) driTr YT W 4T Ienie

() I+ warh Mfode (0) wea = e

ﬁﬂﬁ%ﬁmﬁﬁﬁwrﬁﬁwﬁ

B AT BT WA 22

(1) T fg) Soa A o A At A e A
fawfa et 2

(2) 39 fAgt & <e aff T4 TegAITs @)
FH Ul Sl ;

:ﬁﬁﬂvwazd\#wﬁwgﬁn—
xT —

@aFar1rd2 (b) |1 1 q2r 2
(o) @ 1 (@) Fae 2

WHa%??maﬁu%aaoomgmﬁm
3gare far? T
(8) wifera st ®) oo Sreget qred)

(©) At ewrg arch @ SR e

TN T T =



46. Given below are two statements, one is labelled  46. #13 @ P & T TH @Y ANGAT (A) ¥R

as Assertion (A) and other is Reason (R) -

Assertion (A) - The Tamil Nadu coast remains dry
during  South-West
season.

Reason (R) — The Tamil Nadu coast is situated
parallel to the Bay of Bengal branch
of South-West monsoon and it lies
in the rain shadow area of the

-Arabian Sea branch of the South-
West monsoon during monsoon

monsoon

season.

Select the correct answer using the code given
below -

Code -

(a) (A) is false but (R) is true

(b) (A) is true but (R) is false

(c) Both (A) and (R) is true but (R) is not correct
explanation of (A)

(d) Both (A) and (R) are true and (R) is correct
explanation of (A) '

47. Trophic levels are formed by -

(a) carnivorous animals () Plants only
only
() Animals only’ (d) Organisms linked in

. food chain

With reference to the scheme wise allocation in

the 2023-24 Union Budget, which of the

following statement/s is/are correct?

(1) Compared to the previous year, highest
percentage of decline has been recorded in
the allocation for MGNREGA.

(2) Compared to the previous year, highest

percentage of growth has been recorded in
the allocation for Jal Jeevan Mission.

Select the correct answer using the code given

below -

Code -

(a) Both 1 and 2 (b) Only 1

(c) Only 2 (d) Neither 1 nor 2

47.

48.

TR B BROT (R) HET TAT & —
e (A) — SRv-oRem A A @
ﬂmaﬁm@mwwélfﬁ

FRYT (R) — ARG e aTTel B @S B A
& AAER Red 2 v gfEv—ufiad
qFYA @1 3R AR gftenTan & |
fRera 21

97 fay v He | FE I gAw -

7 +

(a) fa) T & fg (R) ET 2

(b) (A) g ® fbg (R) e 2

(c) (A) 3R (R) &I | &, oAfdA (R), (A) F1 Hel

T FE Bl ©

(@) (A) 3R (R) ST 9 &, 3R (R), (A) FT &I
ARAT AT &

9YF wWR §9d § —
(a) PHaa AETERI (b) waet gl |
gt
() Badt STl | (d) WaTer sy | Shai
Hag B |

| g9l 2023-24 § AR & SFER ATdeH

@ g<d ¥, 9 doE § ¥ B | /9 FE

e 2/ 8?

(1) Roar af A g § 70T 2 g A
Haiere ufierd derl qof o T R |

(2) faBd af & gorr # Wl Sfew e 2
e # waivs wfoed gfg <of @ i
2

o R M e F1 oy e el SR 5

TG HIRTY —

ﬂz\?_
(@) gFT 18R 2 (b) Paer 1
(c) dadt 2 I 1 D 2

[C-1-23] 153101
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49. With reference to the recommendations of the

Ashok Mehta Committee (1977) on Panchayati

Raj, which of the following statement/s is/are

correct?

(1) The three tier system of Panchayati Raj should
be replaced by the two tier system.

(2) A block should be the first point for
decentralization under popular supervision
below the state level.

Select the correct answer using the code given

49. el I T

Wmaﬁf?fgﬁﬂaﬂ(wm
- & ged d Pl Fom

4 o A ad 2/E

(1)mﬁw$mmﬁuwﬂw$wrw
fargqdrn araven g Aed |

(2) wou TR @ A miaenr B @US &
fagedeor &1 g fdg A STl =R |

fa fau qu we A | IR B AT PIfAT —

below - HT —
Code -
a 1 o7 2 {b‘| FdA 1
(a) Both 1and 2 (b) Only 1 el 1 4 -
a‘.“aﬁ (d) § =7
(€) Only 2 (d) Neither 1 nor 2 (©) 2
50- with reference to the invaders in ancient India, 50- W\ @ @ WRA W FFET F A@u A
which one of the following is the correct fr=foRaa # & o1 &1 15 75 Ty 27
chronological order? (@) 9TF — T — W
(@) Sakas — Kushans — G'reeké ®) N T————— f—‘ﬂ'cﬁ—-a
(b) Greeks — Sakas — Kushans
(€) I — FAFT — FHETT
(c) Sakas — Greeks — Kushans =
(d) Greeks — Kushans — Sakas @ o — g — 7
51. To whom does the credit goes for the 51 e~y ¥ aRTe g ™= & R e &
development of coconut and sugarcane A fhaeT Aar 22
agriculture in Philippines? (@) iFaTR; & (b) Eveayal
(@) French (b) Hollanders A .
(c) h (d) M i (dﬁm
C) Britishers Spanish and
sMRBrafya) a1
Americans
52. In December, 2022 New Zealand passed the 52 fawmR, 2022 ¥ =iele 3 arreh G @ forg
world’s first Law to ban smoking for next YHUM R Uiey o aren fawg &1 gren HI
generation. New Zealand’s goal is to be “smoke- RUCIRERITI Sl S T S GED
free” by...cciuninmmrmremronerns : YHUTE qa BT ¥ |
(a) 2029 (b) 2030 (@) 2029 b)
© 220
() 2024 (d) 2025 () 2024 (d) 2025
(C-1-23] 153101 Page 12 of 32
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54.

55.

56.

[C-1-23] 153101

Assertion (A) -12 che

etahs arrived from s
Africst outh

0 India in February, 2023
Re§tormg Cheetah Population is
considered to be a priority for India.

orrect answer using the code given

Reason (R) -

Select the ¢
below -
Code -

(@) Both (A) and (R) are true and (R) is correct
explanation of (A)

(b) Both (A) and (R) are true but (R) is not correct
explanation of (A)

() (A)is true but (R) is false

(d) (A) is false but (R) is true

Which among the following (Provision — Part of

the Constitution) is not correctly matched?

(@) Official Language - Part XVII

(b) The Union Territories — Part VII|

(¢) The Scheduled and Tribal Areas — Part X
(d) Tribunals — Part XI

All elections to the Panchayats are conducted
by -

(a) Election Commission (b) State Election

of India Commission
(c) State Legislature  (d) Panchayati Raj
Commission

Match list-1 with list-Il and select the correct

answer using code given below the lists —
List - |

(Theories of Population)
(A) Optimum Population Theory
(B) Social Mal-adjustment Theory
(C) Demographic Transition Theory

(D) Population-Food Supply Relationship Theory
List- 1l '

(Propounders of Theories)
(1) Thompson
(2) Malthus
(3) Edwin Kennan
(4) Henry George
Code -
(a) A-(1), B-(2), C-(3), D-(4)
(b) A-(4), B-(3), C-(1), D-(2)
(¢) A-(2), B~(3), C-(4), D-(1)
(d) A-(3), B-(4), C-(1), D-(2)

. fyfafaa 94 91 -

8. M A o ¥ Rrm A T @) e (A)

3R FIN B HROY (R) BET TAT R |
INBUA (A) - Brad 2023 # 12 Adf B af
HHT A wra v T e

PR (R) - Al &) smardy B GureT wRA D

wrerfiendr 2
A RA T T A wh IR B gEE AT —
az\? =
@A) 32 (R) &1 w1 2 s (R), (A) B FE
~ ey @van ?
(b) (&) 31 (R) e # =y (R), (A) 1 vt s
TRl e ?
(c) (A) A 2 ff}T'ﬁ (R) 79 2
(d) (a) e & vy (R) e 2
A (grEaE - wfauE &
wrT) e gafea @y 2e
(a) TSI — | XV
(b) ey <7 873 — A
(c) argfera 3R A=A &3 — 57 X
(d) arferam=or — M X

S5. gEIgdl @ WHE Al B FATEF HIAT 2 —

(@) ¥ra &1 fatas (ﬁﬁvﬁ?wﬂm
AT
(¢) I FaRenfUer  (d) TETEET TS AEE

56. -l B gA-I | Fgafem Fw R A Ry

U e $T G HIA 8¢ Fel Io% g0 —
-1

gﬁw & fugi)

(A) Sugad SrTeRa Rigr=

(B) |mIfTH a{m@mm;ﬂ g

(C) STTHEL AP H

(D) SrTeEn—wren= amyfet Rigr
-

(iglﬁ > wfue®)

(1) &I

(2) \Teerd

(3) vsfas &3

(4) B Wt

a(".\? pa—

(@) A-(1), B-(2), C-(3), D-(4)

(b) A-(4), B-(3), C-(1), D-(2)

() A-(2), B-(3), C-(4), D-(1)

(d) A-(3), B-(4), C-(1), D-(2)

Page 13 of 32
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57- World Social Protection Report is published by -
(@) International Labour (b) World Bank
Organization
(€) World Health
Organization
8. Who has written the book “From Dependence to
Self Reliance”?
(@) Y. Venugopal Reddy (b) C. Rangrajan
(d) Raghuram Rajan

(d) World Economics
Forum

(€) Bimal Jalan

%9. The Xylem in plants is responsible for
transporting -
(a) water (b) Oxygen
(€) Amino Acid (d) Food

60. A geographical unit that collects, stores and

release water is called -
(a) Wet land
(¢) Water reserve

(b) waste land
(d) Watershed

‘61 With reference to the joint sitting of Parliament,
which statement/s is/are correct?
(1) Article 109 provides for the joint sitting of
both Houses in certain cases.
{2) The Speaker presides the joint sitting of the
two Houses of Parliament.
Select the correct answer using the code given
below —
Code -
(a) Both 1 and 2 (b) Neither 1 nor 2
(€) Only 2 (d) Only 1
62. Which of the following is not a sustainable

development goal targeted to be achieved by
2030?

(8) Gender Equality
(¢) Zero Hunger

(b) Space Research
(d) Good health and
well being

57.

58.

59.

60.

61.

62.

- Chandraprabha Wildlife Sanctuary is situated in 6.
which district of Uttar Pradesh?
(@) Sonbhadra (b) Baharaich
(¢) Lakhimpur Khiri (d) Chandauli
' Page 14 of 32
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e wReoT RIS GG B ey 5
27“ T (b) fava §F gry

Himed grRl .
(©) fava e W (@) e STRID o g

g - |
(ayarg. qupmaiel ¥E (D) A R
(©) faset A (d) Y™ IS

W % g uftaes & forg forHer g 2 -

% (b) -'Sﬁ?f?ﬁﬂ:{

(c) ufae uferg

S AMferd 18 ol Ul @1 g@esr e 2

HERY $Yll 8 U4 U BISH 2 3% @med £ -

@/3"9‘(‘1% (b) =323 577

() it #T1 Bre (d) F=fFaras

WS DI HYRT 8% B wed & Prefefam werm

‘}fﬁm/ﬁwﬁ'ﬁﬁ /ga

(1) TTBT HB T3 § FHe 7 == w== D
WIH 3T P g et 2| [

(d) 9rA-

(2) T WAl @Y g dor B srma e
HAT B |

%ﬁvwﬁeﬁﬁvﬁwgﬁv—

ja‘r—ﬁmmz ®Far 1978 2

() Baat 2 (@) Faer 1

ﬁw@r@aﬁéﬁawwﬁmma@ﬂﬁ

%.mzoaoaaamﬁmwaeaww%?

(a) <1 TwTeaT (b) 37aRer arpwems

() I s (d) 3BT W@Ren Ty
"_-__""‘-N_____..

EEIH]
ﬂwamﬁﬁamwmwmzﬁﬁmma
7 Rerg 87
(@) Hrmrg (b)

T

(¢) sredigR e




65.

66.

67.

[C-1-23] 153101

With reference to ‘PM Gati Shakti Scheme’,

which of the followi
Wing statement/s i
correct? i3 Tefete

(1) The PM Gati Shakti Scheme-National Plan was
launched in 2022.

(2) The PM Gati Shakti Scheme pertains to seven

engines (Roads, Railways, Airports, Ports,

Mass Transport, Waterways, Logistics

Infrastructure). NIP will be aligned with PMm
Gati Shakti Framework.

Select the correct answer from the code given

below -

Code -

(a) Only 2 (b) Only 1

(¢) Neither 1 nor 2 (d) Both 1 and 2

What was India’s rank in the world greenhouse

gases emission in 2022?

(a) 12t (b) gth

() 11* (d) 10t

With reference to the E.V. Ramaswami Nayakar,

which of the following statement/s is/are

correct?

(1) He participated in the Non — Cooperation
Movement.

(2) He left the congress in 1925.

Select the correct answer using the code given

below —

Code -

(a) Both 1and 2 (b) Only 1

(€) Neither 1 nor 2 (d) Only 2

By which year the target of population stability

has been fixed in India?

(a) Year 2070 (b) Year 2045

(¢) Year 2080 (d) Year 2075

Which of the following (Scheme — Year) is not

correctly matched?

(a) Shyama Prasad Mukherji Rurban Mission -
2015

(b) Rural Housing Interest Subsidy Scheme - 2017

(c) Sansad Adarsh Gram Yojana - 2014

(d) Deen Dayal Upadhyay Gramin Kaushalya
Yojana- 2014

65.

66.

67.

68.

e

64.

fow. wfrefid T @ e ¥ Peaffad 3

q /A P A 2/

(1) Go. TRy AT B PRy 2022
# fobar ar e W/

(2) ISTA gETET 9RY A (GAaEd) #
FqEvaATs) & Hafd aRareEet fLom. i
ufdd gra & W ST Sre |

fr=fafea @e @ w# s g4 -

_—

(a) daa1 2 (b) Had 1

() Far1=m &2 () Zrm1 13 2

2022 % wa A1 ETSH A1 @ I A AR

frg oI R 9r?

(a) 123t (b) gdf

(c) 11 Adr10dt”

.8 IEr AgaR @ wed W, ratatea sl

FQ PHEr /¥ 9 2 /87

(1) SR 39edrT Inered ¥ e foam

(2) BF 1925 ¥ HUW BIS A |

A Ry T He &1 9ArT e FqE S

gfig —
az\?_
(@) ST 1 2 2 (b) ael 1
©aar1ar &2 (d) Baa 2

IRd § SiEE @ifia &1 @ed e 98 a@
fRuffRa far war 22

(a) 9§ 2070 dF (b) a¥ 2045 TF

(c) a¥ 2080 TH (d) a§ 2075 ad®
fraffed & 4 o9 @ @9 — a) I
gifera &1 27

_(a)-warHT e ol B e — 2015

<b)mmmmw—/2@,

(C)Wmmm—gqyi

(d) 9 <l Surag AT BT AT —
2014
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69. What is the theme of the International Day for
the Eradication of Poverty for 2022-23?
(a) “Dignity for all in practice.”

() “Coming together to end poverty and
discrimination ”

(©) “Atting together to empower children, their
families and communities to end poverty.”

(d) "A&‘:}elerating global actions for a world
wit‘ﬁout poverty.”

70 Which of the following hormones is secreted by
the Beta cell of Islet of Langerhans of Pancreas?

(@) Adrenalin () Glucagan
(c) Instlin (d) Aldosterone
Matcl%iist-l with list-1l and select
answe‘r_using the code
List -1
Book
(A) Mirat-e-Sikandari
(B) Burhan-e-Masir
(C) Riv&;-us-Salatin
(D) Riﬂ_z-ul-msha
Lists |y
Co&xt
(1) History of Bengal
(2) History of Bahmani’s Ahmad Nagar
(3) Collection of Mahmood Gawan'’s letters
(4) Victory of Gujarat
Code {B
(a) A-M, B-(2), C-(1), D-(3)
(b) A-@ B-(4), c-(1), D-(3)
(c) A-(1), B-(2), c-(4), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)
72. The Indian Biological Data Centre js
in which state?
(a) Haryana
(c) Uttar Pradesh

71. the correct
given below the ists —

(b) Punjab
(d) Gujarat

73. Which of the following is not a biodegradable  73.

polluter?
(@) Faecal matter (b) Pesticide
(¢) Urine (d) Domestic waste

being set up

69. 202223 @ forg T ST @ forw g R,
ﬁa—ﬁ Gl m 7 %7 B
(a)"wwﬁﬂ‘ﬂfﬁm”ﬁm'zﬁ
(b) ,.wﬂaaﬁqqamawm %NR"CB?W

AT . |
(c) Ty < e B forQ e, S ufay
IR el B wIE aH B Y v
& G | . |
(d) “w&dr & famm gfam & ARTd FET F
A n

70 fyeiferfaa 4 | #rar 2w T B ARy

& dgAe B der qa (@fEE) R Enfie

Y Tgfers (b) TegprT
(c) mﬁ.ﬂ (d) 7= M

XA @ R G g A e gf
@ MRy M g @ T g -
-
(A)Ef?:m~q~ﬁ=mmﬁ
(B) TRETH—T—HIRBR
(C) RaTa—su—wenfas
(D) Rars—ei—g=m
A1
ELpf

(1) 11 &7 sferg
(2) & & sEHETR &1 zhes
(3) 7= ot & w3t B Hos
(4) TR faorg
az‘\e -
(3) A-(4), B-(2), C-(1), D-(3)
(b) A-(2), B-(4), C-(1), D-(3)
(€) A-(1), B-(2), C-(4), D-(3)
(d) A-(3), B-(2), c-(3), D-(1)
72. Wﬁﬁas%aéa%ﬂmﬁwﬁaﬁm

T ¥&T 27

(a) eRamom (b) gy

(€) IR yur (d)@

Frafofed % ¥ 2 @ arferegg yquS TE
14

(a) 7 ugref (b) Bresrerg

(c) 7= (@) Ter=mfre

(C-1-23] 153101
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74

75.

76. ‘Ozone layer’ absorbing ultra - violet radiation 76
exists in which of the atmospheric layer?
(a) Mesosphere (b) Troposphere
(c) Stratosphere (d) Thermosphere

77. Which of the following cities of Uttar Pradesh is 77

In National Parks, Genetic diversity i ——_ . o :
' ersity is maintai 74. : —
by y ned W FerrEl § aranie fafduar &1 -

(@) In-situ conservation (b) Ex-sity conservation
(¢) Gene pool (d) None of the above
The aquatic plant commonly used as bio fertilizer; . 75.

)

in the water-logged rice field is - N

|
(@) Wolfia

(b) Azolla &
() Trapa

(d) Lemna

AJ

not included as the venue for 11 meetings of 2001 -
ssions of G-20 during India’s Presidency of the <
ouping? 0
) Agra (b) Varanasi =

(c) Greater Noida (d) Kanpur |

ST @ —
ga-die A g (b) Ya—dIe, |l gl
() S et g1 (d) Soga § | F1g 7L

e i B ur Sd wnfag am @ @d 3
Wa—-Fdvas & &9 gANT H AT A e, 98
&

(a) arfemo fz_@%

() gmr (T

qeriry fafen & senfaa @ea ardt s
uee” fhar argueda ww A Rug 27

(a) 7e21 w2 (b) &My #3H
(ey THeATd H3eA (d) a9 H2A

IR yeu & fy=fafraa sz 8 19 F9 31 1B
YR P 3T & 2194 G-20F 200931 4 A
11 do#1 & fou wd & w1 8 s 581 27

(@) T (b) AU
(c) Fex AT @ FAL

78. The Constitution of India initially permitted the 78- Reld WfAwm = Uk = fes sl 7 fom ol
use of English language for all official purposes TP IREAl &Y Sh AW & IEA & Ay
for a period of - IrEfa e @1 A7 '

(a) 10 years (b) 20 years (a) 30 a4 (b) 20 79
(c) 5 years (d) 15 years 00 (c) 5ad (d) 1539

79. The “NISAR satellite” is jointly developed byy“’: 79. ﬁ-ﬂﬂ gue” fefafas 3 1 ra—-' TS BN
which of the following organizations? o ugE e ‘é‘ fﬂ'cbﬁ!ﬁ faa T &7 o
(@) ESA and ISRO (b) ROSCOSMOS and v (@) 3THU 3R 3E1 (b) IRFHTEATH AR ?

CNSA WWQ
(¢) ISRO and NASA (d) ESA and NASA ¢) T 3R A @) $THT SR A

80. Which of the following (Port-Country) is not 80. P (FEATE—<T) HEl FHIAA
correctly matched? I~ T8 ¥
(a) Montevideo - (b) Igarka — China < ‘

Uruguay I (a) "iredifEa) — 9% (b) gH — A
(¢) Jakarta - Indonesia (d) Rotterdam - « (©) st — R () m
Netherland SN

81. Who among the following is the first women 81. Tl &1 HfH afeen war 1 9 9 £
Speaker in Lok Sabha? (a) of : (b) wferr Trfes
(@) Urmila Singh (b) Pratibha Patil o
(c) Meira Kumar (d) Sushma Swaraj (‘C)Jﬂ'ﬂ HHR (d) o1 @RI

82 Which one of the following (Tributary — River) is 82 Prefafad § A oF O (FEad 8 — =21 w8
not correctly matched? W & ¥
(a) Pranhita — Mahanadi(b) Hemavathi - Kaveri ,\
(c) Malaprabha — (d) Manjra — Godavari (a) grorfear — weral  (b) %.‘Haﬁl - Tjﬁlﬁ/
Krishna (c) ATAYH — FEI (d) HERT — | UGG
P R Page 170 (1 TR



83. |n 1918, the United Provinces Kisan Sabha was
formed by which of the following leaders?
() Swami Sahjanand  (b) Baba Ramchandra
Saraswati
(€) Indra Narayan
Dwivedi
84. Which of the following Scheme/Programme is
not the Central Government Programme and it is
Uttar Pradesh Government’s Programme?
(a) Ganga Expressway (b) MGNREGA
(©) Gramin Swasthya  (d) Pt. Nehru Utkarsh
Mission Mission
85. With reference to the Human Development

Report, 2021-22, which of the following

statement is/are correct?

(1) India’s rank on the Human Development
Index has upgraded from 130 in 2020 to 132
in 2022,

(2) India’s rank on the Human Development
Index has stipped from 130 in 2020 to 132 in
2022.

Select the correct answer using the code given

below -

Code -

(a) Only 1 (b) Only 2
(¢) Neither 1 nor 2 (d) Both 1and 2
86. Which of the following factor is the most
important factor for the |ost of biodiversity?
(@) Destruction of
natural habitat

() Genetic assimilation (d) Control of predators

(d) pt. Jawaharlal Nehru

(b) Pest control

87. The river situated along the border between the
United States of America and Mexico js -
(@) The Mississippi (b) The Colorado
(©) The Rio Grande (d) The Amazon

88.  Which of the following statement is correct?
(1) Ram Ganga river joins the Ganga at Kannau;.
(2) River Betwa joins the Yamuna near Prayagraj.
Select the correct answer using the code given
below -
Code -
(a) Only 1
(€) Only 2

(b) Both 1 and 2
(d) Neither 1 nor 2

C-1-23] 15310}

83.

84.

85.

86.

87.

88.

Page 18 of 32

19183 W 0 FATT A T ACT P

(a Wﬁﬂ% 5 (d)‘qmmm
(c) g7 A fZdd 3

AT 87
(&) T d (b) 7T ”e,g;; -
(c) wror varen fag (d) ;‘?ﬂ;

a4 fasra a1, 2021-22 % dad H, Frafafs

| PaT U GA 2 /87

(1) 74 fawma ga@i® # 9Ra &1 200 2020
1309 I+1d B1HY 2022 % 13281 TS 2|

(2) w119 fa®T gadie & 9= @1 2oft 2020
1309 2022 % 132 7% R 77F 2|

A e dHE BT ST FRE FE SR BT W

PITY —

aza_

(@) Haer 1 (b) Haer 2

© a1 &2 (d) ST 179 2

Frfefea 4 @ o9 @1 oo So—fafeerar 3

B @ oy gaifes PRSP 27

(a) qrg FT ( :
gfm% o) Pre Frr

(c) amgaifs (@) Tfert W i
HTHHIHIT

ﬂ@wmmﬁmmﬁﬁmﬁﬁﬁaﬁmm

Rere 7y & —

(a) fAffRndy (b) PR

(c) Rar 71 (d)

e wemt 4 § a9 /@

(U'gtn*nﬁé’rawﬁmzﬁwrhnﬂ-c.ﬁﬁﬁaﬁ
|

(Z)Tﬂgﬁ;\m%wmﬁﬁw
|

T RY T 7e § 98 3w g -

o —

(a)a‘»aax\{ 0) B 1 77 5

(c) Baet 2 (d):‘?hl?ﬂﬁz



89.

90.

91.

92.

93.

—_———

[C-1

Which statement is trye for Finance Sector (Fiscal

: 89. g Toic—2023 ¥ i &3 # (o™
Manfngement) in the Union Budget-2023? yaRF) @ o P W g wd &2
(@) :;:(;:L.Deficit of 3.5% of GSDP allowed for () ShTadd. BT 3.5% TN T B I
(b) Budget estimates 2023-24 for t ™ s :
otal (b) 2023-24 & qWIC IJAMI ¥ FHol AW 55 AE
expenditure is T 55 lakh Cr. RS T B
(©) Fiscal Deficit 2025-26, the target is to be (c) 2025-26 3 f2rT ITAPET T2 FY 5.5% W A
below 5.5%. @ P e |
(d) Twenty years interest free loans to states. (d) 3oaf o o9 ad B oo &= qa FO |
Which of the following is not a part of the 90. fy=foffgg & | #F "rdm dfus @
Article 20 of the Constitution of India? FTWT 20 o Rww 7 27
(a) Double Jeopardy  (b) Ex-post Facto Law (a) A} TvE A gRT  (b) FTAER AR
s (©) TreT @ frog P () T w freg
(c) Prohibition Against (d) Prohibition against . ??TE?T 4 4 Py
Torture Self Incrimination
On which of the following, proved charges the 91- fy=fafaa & 4, f&w g <9 & IWR W
Finance Minister Nadhim Zahawi was sacked  <ad, 2023 & fafewr gar== =6 g% W
from the Government in February, 2023 by the 3 TRPR ¥ fEE €W Ser 3 ger &
British P.M. Rishi Sunak? o7?
(a) Disclosure of (b) Sex Scandal (a) HAMUSH DI (b) ¥ Wvsd
Secrecy of the MYHAIAT H7T B
Cabinet P HRU
(¢) Tax Scandal (d) None of the above (c) e (d) Sugde # 9 D1
By which of the following Acts, the system of 92. ¥ ¥ frg affEe gr, 120 9
‘Chamber of Princes’ with 120 members was T R aife R @ e 2 T oA
created?
(a) Act of 1919 (b) Act of 1793 (@ 1919 71 sffr  (b) 1793 1 SR
() Act of 1909 (d) Charter Act of 1853 (¢) 1909 &1 T () w
Which of the following (Union Budget 93 frmfarfea ¥ Y I @ (=g quie
Departments 2023-24 - Allocation amount 2023-24 — AT amafea fd T) WL GAferd
approx. ¥ ) is correctly matched? 4
(a) Pradhan Mantri Jan Arogya Yojana — ¥ 5,000 (@) gAYl & JRY AT — 5,000 BRTS X
Crore (b) TRy Td gRaR ST HAGd — 80,000
(b) Dept. of Health and Family Welfare — ¥ 80,000 T 2
crore (c) TR HATTT — 89,155 RIS T
(¢) Ministry of Health —X 89,155 Crore
(d) Dept. of Health Research — < 9,155 Crore (d) warem T T — 9,155 aRTs X
B 1 Page 19,0132 1 L R



94. Given below are two statements, one is labelled

as Assertion (A) and other as Reason (R)—
Assertion (A) — The President can recommend to
the Parliament to change the

boundary of any state after
seeking views of the concerned
Legislature of that state on the
subject within specified period.
Reason (R) —Itis not mandatory for the President
to accept the proposal of the
concerned State Legislature.
select the correct answer using the code given
below -
(a) (A)is true but (R) is false
(b) Both (A) and (R) are true but (R) is not correct
explanation of (A)
(c) (A)is false but (R) is true
(d) Both (A) and (R) are true and (R) is correct
explanation of (A)
95. With reference to the post’s in Secretariate of the
Parliament, which of the following statement/s
is/are correct?
(1) Common posts may be created for the
Secretariate of each House of Parliament.
(2) The Parliament has right to regulate the
service conditions qf Secretariate staff of

either House of it. ‘
Select the correct answer from the code given

below —

Code -

(a) Only 2 (b) Neither 1 nor 2
() Only 1 (d) Both 1and 2

96. Shivanasamudra and Kalpakkam are respectively

important for -

(a) Hydel Power and
Nuclear Energy

(c) Nuclear Energy and (d) Solar Power and
Hydel Power Nuclear Energy

(b) Thermal Power and
Nuclear Energy

94, A3 o1 o & R & T B AAB (A) IR

{#\'a’rm(mmw%—
e (A) - Rl wrou @ AT e @
Rt gty WA B oAl 8

s g forg Ul HafeT
a5 @ furEHsd @xl 99
e R AR @ A Ik
& v ura Fxd E|
mm(k)—m:ﬂfaaﬂwmﬁmam
g wEAT sfard E 2l
#Taféfzrrrm;?:nwﬁwﬁgﬁﬁ,-
(a) (A) @en 2 g (R) T 2
(b) (A) 3R (R) @M Ha 2 fAg (R), (A) @ |El
R 8 Hedl 2

\_}A (A) T & fbeg (R) @7 2
(d) (A) 3R (R) 2T &= & 7 (R), (A) FT 7

AT FRAT &
95. W%Wﬁﬁm‘mﬁaﬁrﬂﬁa
P /Y YT G 2/ E7
(1) GEe & YAF FeA T FaEed R
wfeafer get @ g frar 51 w9 2]
(2)@3@@#%@1%@3??%@
= @ Ja wa & RfetE w3 3
PR B © |
ﬁque@ﬂﬁwmmm-

a’c\z—
(a) Pad 2 (b) F @1 141 & 2
(c) Baa 1 (djﬁ'«ﬁmanz

96. m@mm:mmm
& ‘

BEGRIEIRE! (b) aTq Felt T
i et T FHt
() g St w@ () W we wd
STl Wi T ot

|C-1-23] 153101
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o7

98.

100.

with reference to Union Finance Commission
’

which of the followin
B stateme i
Y ot nt/s is/are

(1) Finance Commission has a Chairman and six
members.

(2) It submits its report to the NITI Aayog.

Select the correct answer using the code given

below —

Code -

(a) Both 1 and 2 (b) Only 2

(¢) Neither 1 nor 2 (d) Only 1

In February, 2023 India’s biggest helicopter
manufacturing plant was inaugurated in which
one of the following places?
(a) Chakeri, Uttar (b) Nasik, Maharashtra
Pradesh
(¢) Tumkuru, Karnataka (d) Coimbatore, Tamil
Nadu

with reference to mineral resources, which of

the following statement/s is/are correct?

1. Lithium’s inferred resources have been found
in Reasi district of Jammu & Kashmir.

2. India is import dependent for many minerals
like Lithium, Nickel and Cobalt.

Select the correct answer using the code given

below -

Code -
(@) Neither 1 nor 2 (b) Both 1 and 2
(€) Only 2 (d) Only 1

Which of the following Provision is a part of both

Directive Principles of State Policy and

Fundamental Duties?

(a) Participation of workers in management of
industries

(b) Protection of environment

(c) Guardians to provide
education to children

(d) Uniform Civil Code

opportunity for

101 Which of the following is not an economic

97-maamma%ﬂaﬂﬁ,ﬁwﬁ-maﬁ@

P /A Fua w8 B/ E
(1) frer o & Ta onemet 71 O a1 B IS

(2)%3@%%3@”@@“5“
2 L.

aza_
(a) 117d 2 &Mt (b) dadA 2
(©Far 1A &2 (d) @ad 1

98. mﬁ,zozaﬁmﬂa%maammﬁﬂm

ﬁﬁammﬁﬁqﬁ-ﬁaﬂﬁﬁ I R
-

g 17

(a) 938, SR (b) s, FERTE

(c) qHER, FACH (d) FrHaeR. ARETIg

99. aﬁmﬂmma‘%wﬁﬁ.ﬁm%f@ﬂmwﬁﬁ

e @/ A 2/

|, TR @ Radd R ¥ Afem @
s ar v fa # )

5 e @ @i e A, e e
Fraee & fore amara w® ek 21

S B T @ A w I IR -

'HZE_
(@) 9 @ 1771 & 2 (b)a’mhai’r\”z_/
(c) dad 2 (d) dad 1

100-%%fhﬁﬁﬁaﬂﬂmmm%ﬁﬁwaﬁﬁ

wﬁmaﬁ@ﬁﬁwm?
gl § PHBRI T HF AT

(c) afrira® aedt B e B I R
(d) gATE FArTRE ied
—

101. Preforlad § @ @ @ anfis fban =8 7

ity ?
activity? _ (a) |ftos gare ¥ar  (b) A (@A)
() Voluntary Social (P} Farming ¥ ——,
Service (c) gRae= (d) Ay
(c) Transportation (d) Service
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192- Which of the following scheme/s is/are related to
Uttar Pradesh?
(1) Anuthee Uphar Scheme
(2) Matra Shakti Udyamita Scheme
(3) Kaushalya Matritva Scheme
(4) Stree Nidhi Scheme
Select the correct answer using the code given

below -

Code -

(@) Only 2 (b) Only 1

(¢) Both 2 and 3 (d 2,3and 4

103. Eastern boundary of the Harappa culture is
indicated by which of the following?

(a) Manda (b) Harappa
(€) Alamgirpur (d) Rakhigarhi

104. Bjological Oxygen Demand (BOD) is a standard
criteria for -

(a) Pollution assay in aquatic ecosystems
(b) Assaying 0; level in high altitude regions
(€) Computing 0, level in forest ecosystems
(d) Measuring 0; level in blood

105. Desert dwelling animals are called -

(@) Xericoles animals (b) Arboreal animals
(©) Fossorial animals (d) Terrestrial animals

106. Make the pairs of chief rivers of their place of

origin —

Rivers Place of origin
(A) Yamuna (1) Sihawa
(B) Krishna (2) Nasik
(C) Godavari (3) Mahabaleshwar
(D) Mahanadi (4) Yamunotri

(@) A-(4), B-(3), C-(2), D-(1)
(b) A-(1), B-(2), C-(3), D-(4)
() A-(4), B-(2), (1), D-(3)
(d) A'(4Jr B-(Z), C'(3}r D'(l)

102, Frerforfrt 3 & @ WA A/ A IR gy

Gafra & /87

(1) I SUER AT

(2) Agafa SEfar AT

(3) Ferean ARG ATl /

(4) & fafey 2o

# fag g e @ @& ST AT — _F
:\?mz (b) a1 \

100, Freaferftae 4 @ a1 wgon Wl @ g B

&1 fAeieor &var 27

(a) Hrvg (b) &5
c (d) gl

104 arelifiea sifadram famis (@andl) fras

TH AHS HHES 27

(a) Sefra wiRReiferd @3 % wgwwr #1 wirg & faro
) ST FUTE Il aE H sitRieE 2 ot @
ferg

© 77 oRRufees o= & sitwiom & ww @
U @ forg

() 359 & SfiRfoH @ @R & 5 3 B

105-Wﬁ'maﬂ#mﬁwwé—

(@) wofemg (b) geaTst Far

(c) faef el SR () 1T Fraw

- AIRT T 9 A T WS s et @ o
Y —

fet SEULROC]
(A) T (1) Ryeman
(B) o 2) TH®
(C) MeEd 3) HEEJTaR
(D) /F&TEY ) T

(37 A-(a)}B-(3), {(2), D-(1)
(0) A1), B-(2), ¢13), D-(a)
(©) A-(4), B-(2), C-(1), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)

107. Which one of the following (Passes - States/U.T.) 107. fr=forlRea & & o\ «r & (R — 50 /3w

is correctly matched?
(@) Mana - Himachal  (b) Niti — Uttarakhand

Pradesh

(¢) Diphu = Ladakh (d) Aghil — Arunachal
Pradesh

MR W) W pfer @7

(@) 1 — fRereer srden (o) Ay — wereresd

(€) A, — TR (d) vt — s
&

(C-1-23] 153101
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108. Which gmong the following organisations was
responsible for throwing a bomb at Viceroy Lord

108. fyifyRae # & @ o Reeh § AR

Hardinge in Delhi? A wfET W 99 B B forg IR AT°

|@ Anushilan Samiti  (0) All India Labour \(}731‘1’??'?'“ L L m TR RS
Association ) - b

(©) Yugantar (d) United Patriotic () gmeR (@ g Afgaiies
Association =

109. Role of Human Resources in Economic 109. afie R ¥ A HAMH &1 ANTEH & |4

development, which of the following 3 Prefafad sudl § @ #1F A@1/d I8 Va4
statement/s is/are correct? ’ |

1. Effects of economic development on 1. e fasra @1 SeEEn & T E | ?
population growth. 2. wiaEn gfe &1 arfdia fasy g yad |

2. i th i mi : IR
Effects of population growth in economic £ Rl T FE B AMR R WE IR B 9
development. °

Select the correct answer using the code given HIAY —
below — =
(c‘:;d;l';w 1 (b) Neither 1 nor 2 (a) Baa 1 (b) 7 &1 1771 #1 2
(c) Only 2 (d) Both 1 and 2 (c) dad 2 | ww |
110. Match list-1 with list-l and select the correct 110. -1 @1 -l § gufere @i 541 o &
answer using the code given below the lists — ?h‘t‘lﬂf;ﬁ T e A T IR P AT DA~
List - | -1
(Sustainable Development Goal) (e fawra @ed)
(A) SDG - 10 (A) TEELSN. - 10
(B) SDG - 13 () TS - 13
(C) SDG - 14 (C) TSI - 14
(D) SDG - 15 . (D) TR - 15
List - Il -
(Related With) (arafrd
(1) Climate Action (1) Sierarg foran
(2) Life on Land (2) 9E W nﬂaﬂ
(3) Reduced inequalities (3) ST ¥ FHAl
(4) Life below water (4) TR B A BT WA
Code - e —
(a) A-(3), B-(2), C-(4), D-(1) (a) A-(3), B-(2), C-(4), D-(1)
(b) A-(2), B-(3), C-(1), D-(4) (b) A-(2), B-(3), C-(1), D-(4)
(c) A-(3), B-(1), C-(4), D-(2) () A-(3), B-(1), C-(4), D-(2)
(d) A-(1), B-(2), C-(3), D-(4) (d) A-(2), B-(z_), Cc-(3), D-(4) - ‘
111. Which of the following pairs (School of Thought—  111- fmfaifad § ¥ PA A g JeRD)
Proponent) is correctly matched? & gt . S /
(@) vaisheshika = (b) Nyaya — Gautama (@) Fafar — TR (b(w,
Patanjali _ N __
() Mimansa — Kanada (d) Uttara Mimansa= (c) A — @vd (<) (d) ITY AHII i
Kapila
e e S .
S T Page 23 of 32 [T



112. Who was ‘Khareetadar’?
(@) Chief Officer of
Pargana

(b) Main custodian of
royal palace

(©) An officer who was () Despatcher of royal
trained in keeping
accounts

decrees

113 Which one of the following place is the
confluence of the river Alakhnanda and the
Bhagirathi?
(a) Dev Prayag (b) Vishnu Prayag

() Rudra Prayag (d) Karn Prayag

114, Who authored the book “The Challenge of World
Poverty”?
(@) Jean Dreze
() Amartya Sen

(b) Adam Smith
(d) Gunnar Myrdal
5. The “Agenda — 21" of Rio Summit, 1992 is related
to -
(@) Preservation of
ozone layer
(¢) Sustainable
development

(b) Environmental
education
(d) Polluter - Pays
principle
116. Which one of the following is not true about the
total outlay in the Union Budget 2023-24?
(@) Interest payment
(20%)
(¢) Subsidies (9%)

(b) State share of taxes
and duties (18%)
(d) Defence (8%)

117. When did the Water (Prevention and Control of -

Pollution) Act was enacted in which of the
following year?

(a) 1976 (b) 1977
(€) 1974 (d) 1975
118. Human heart is made up of how many chambers?
(@) Only four (b) Only two
(c) Only one (d) Only three

119. Which one of the following is the largest coal

producing centre of Ukraine?
(b) Kharkiv

(d) Donetsk

(@) Zaporizhzhia
(¢) Kyiv

112. wgdargR’ diF oA17

(@) T T T (b) sn‘aﬂnsa B Y
R e
(c) afrepTdr Y (d) BT BT Vo
frara—fpara - | arerT JferBTy
oo T I o
13, Prferfer # @ 6 R R S o
© el ) fredt 87
(@) 29y~ (b) faoy garmy
(©) g v (d) @i g
114 g A 31 92 ufadl” qeaa faem fardy
lfi? (a) i F (b) Tz ey
&S () arfer 9= (d) TR fade

15 Ral Rrer wwier, 1992 #7 “roi=—21" wdfin
3 _

() S e B (b) TaTEwoT R &
T ERET
%?(C)ﬂﬂﬁﬁﬂ?m'\'}f (d) U595 —
© Freia |
14@-?‘17&‘171'«!6132023241?@@#%

AW B e wd T8 20

(@) =TSt raE (20%) (b) ¥ g 3ol A v
e B Tfier) (18%)
0 (c) wfeasr (9%) (d) Rem =17 (8%)

1%-%%%@@%)@%%
< Rt % % Rt o e o
(@) 1976 & (b) 1977 %
(d) 1975 7
118 A9 & o Sl (ew) a1 gy e &7

_—

(c) 1974 %

@a‘maaw (b) Bger =y
(c) I TP (d) Bae &g

119-ﬁmﬁ32§ﬁwmwaﬁwmﬁ
P T 8?
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120. with reference to India’s 6.5 log

following statement/s is/are ¢cq 120. g 3 o : .
1. The logo has lotus with, se e % w“; %—20;1#:175 forg & W=t # Fy=fofaa
ven petals, B W/ A g/

2. The seven petals |

continents
' 2.901% foe @1 WA ugfedl |@ wegmr @
elect the co . ‘
:,ek,w- rrect answer USing the code given Wﬁ'ff?ffﬁrcl X &)
A faa m e @1 v v 9@ IR &1 A
Code - P —
‘a) Bth land 2 (®) Only 1 )Z\z P |
(c) Neither 1 nor 2 (d) Only 2 . _ (c)) amml ma 2‘ (b) Faat 1
. Wi - il 141 21 (d) &
121. With r.eference to the Puranas, which one 0“.‘{-;‘9 24 vl 2 | _; A 2 |
following statements is correct? H : ;{g:n ;}5 e o fasrfafrzra womt & 9 9
: 3

(1) Information about the Mauryan dynasty. is
found in the Vishnu Puran.

(2) Vayu Puran throws light on the Gupta’s

(1) Rwy qemr 3 i am 1 sEerh fBad 20
(2) Arg GRIOT A A9 &N AHA AGEI] T TE

governance system. e 7 | :
(@) Only 1 (b) Neither 1 nor 2 @ F3a 1 ® a1 A 2\/
(¢) Only 2 (d) Bothland2 r- (©) Faet 2 (@) < 17 2
122. Which . of the following Scorpene &?55 122. yfafag & 9 9 @A oo 71 T=5g= 7
?ubmanne: was commissioned into Indian I"d_?wy SHE, 2023 W ARG ARG 7 AEA A T
in January, 2023? = — .
(a) INS Karanj (b) INS Vela o) s e ovw () FERTTE S
() INS Vagir (d) INS Kalvari (© IETATE. AR (@) FETATE T
123. Which of the following statements is not true 123 ﬁﬂﬁff@giﬁaﬂ’r A Y W FAT $ Fag F FEA]
Hl e 87

regarding ‘Gram Sabha’? e,
(a) It has the powers and functions at the vi@e
level, like state Legislature has at the sct;a)te

(@) 3% P 3R wfdaar o™ &R R SH AFF
#F O vy FeRnfUET @ Weg ¥ W g

level. o gl
(b) Its powers are determined by the Central (b) THST wfITal kil fgiRer @20 FER F
Government.’ gRT BIAT & | éq ;ﬁ 5 o B
(€ It is a Village Assembly consisting of all (c) Jg TP A N 2 s T=raa r
registered voters in the area of Panchayat. a5 & a4l Wﬂ?ﬁﬁ qagTal |fEfea 81d 2 |
(d) (a) and (c) both e (d) (a) @ (c) QI y __
entfied 124 BYad), 2023 T IR UL ¥ A AR WIH

24. How many railways stations have been id

for modemization under A ey 2 A e Ay
(a) 123 (b) 57 (a) 123 (bRS7
© 82 o 125 (cﬁa 2023 &1 ﬁw;%;:lgﬁ | fdg Qg A
Q i i has declared -2 . :
 Amagthefolowing s o1 e s e e
Bank Currency Notes on 2" February, 2023? :)T b ‘ 5 S
(a) Australia (b) Nepal (c)ﬁ-@mal f ) S
(€) Sri Lanka (d) Canada =
e
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126. Example of Lotic ecosystem is -

(@) Ponds (b) Swamps

(¢) Rivers (d) Marshy area

127. Which among the following is a constituent of

natural silk?

(@) Potassium (b) Magnesium

(€) Nitrogen (d) Phosphorus
128. seaweeds are important source of -

(@) lodine (b) Argon

(¢) Bromine (d) Chlorine

129. With reference to the representation of Uttar
Pradesh in Parliament, which of the following

statement/s is/are correct?
(1) Uttar Pradesh has 31 seats allotted for Rajya

Sabha.

(2) 80 members of Lok Sabha are elected from
Uttar Pradesh. ‘
Select the correct answer using the code given

below —

Code -

(@) Neither 1 nor 2 (b) Only 1

(€) Only 2 (d) Both 1 and 2

130 Which one of the following (Lake — Country) is not
correctly matched?
(@) Maracaibo -
Venezuela
(€) Michigan - United
State of America
131 Which of the following is not correctly matched?
(@) Iitutmish — Father of Razia
(b) Gulbadan Begum — Daughter of Babur
(¢) Hamida Banu Begum - Wife of Allaudin Khilji-
(d) Shah Turkan - Wife of litutmish
132. As per Social Progress Index, released in
December, 2022, which of the following are on
top three positions in very high social progress in
Tier-1?
(a) Pondicherry,
Lakshadweep and
Goa
(¢) Kerala, Nagaland
and Meghalaya

(b) Onega - Canada

(d) Baikal - Russia

(b) Mizoram, Himachal
Pradesh and Ladakh

(d) None of the above

&5 BT SEERT & —

. a (b) Gerael
o ﬁ (d) &g9r3 & (Aref
(c) :
127-%%#@%%91“@@%%
37
(ga) qrefirH (b) HreffRrers
(c) ArZgIaAA (d) BHIEpINE
128, yyud) darel farad AETaql WId E’;
(a)_siapd @ (b) 3T+
(c) g1t @ (d) FATT &

129. o & 9w yew & ufafAfoed & wHe g

Preifefaa wui 4 @ =1 981 8 /87
(1) 159 991 % fou 297 u=91 &1 31 612 3mafes

gl

(Z)FI’IWWTE!%%WWW?#%
B & T

W Ry MU HE ¥ wE I 5T -

azrd_

@aariard2 (b) a7 1

(c) daer 2 (d) =91 1 327 2

130. fmfefam & & i (gie —<w) e

T8l 87

(@) ARTPTZET — (b) I T — AT
e

©) e — e (0) dore - =g
ISY 3R

131, Frfeed % Q@ w1 v R T8 8
(@) gegafier — R & far
(b) T[FAIET 4TH — qIET FY
e a1 A — el Reet 2 qot
(d) A& BT — seIafe @ geh

132. fewiaR, 2022 ¥ SR ARG WY Wi @

ajﬂwﬁm—lﬁ,ﬁﬁ%@a#ﬁﬁqaﬁgﬁ

RS wfy F o A e w8

(@) iR, Ferdla sl (b) e e
Ml Ue¥ 3R TRy

M) %€, T sik ) Sfw & ¥ e

I T8
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133. with reference to the Deal:
€akin Uniyere;
ersity,

the following statement/s ; which
sis of 133, , ,
1. It will be the first Foreigr{a[,e correct? S Rvafdeme @ =t ¥, Prafilea s
. . n : 1
Ier|a e'ns an independent cam:":irsnv to enter ‘: |q B m/"é a8 /87 |
2. Itis being set up in Maharashtra . :;w wWad 9RER @ AegH | qRa ® 9a9
Select the correct answer USINg the code o , aren gee e fvafdearem 2
below — e given .39 wERTg # wnfda fhar o ver R
Code - N A ™ we &1 wEm Fw wh I gea -
(a) Neither 1 nor 2 (b) Only 1 e —
(c) Both 1 and 2 (@) only 2 (@) 51 et 147 &1 2 (b) Faa 1
; (c) ar=] ‘ ;
134 Which of the following elements is not a Nobje 134 —Mg— (d) Haa 2
gas? Oble - Fraafafaa 4 @ %9 w1 a@ Aaa T 20
(a) Argon (b) Krypton (@) 3t (b) fare=

(¢) Actinium (d) Radon (et (@) 2=

135. Who is the Author of the famous Novel “All the  135. wifeen araTd! PR, 2022 WA LA AT

Lives We Never Lived”, which received the wRig SuI Cate @ o & A e @
Sahitya Akademi Award, 2022? oEF I &7

(a) Anuradha Roy (b) Anita Desai (a) IR I (b) & 2=

(c) Sudha Murthy (d) Shobha De (c) e ‘Iﬁ// (d) ImT 2

136. with reference to the SCO Film Festival-2023, 136. gg¥fial. fhew #aIwa—2023 & &=9 =
which of the following statement/s is/are fr=fefadg doumT § @ & 91/8 928 2/

corect? 1. YaT$ WEANT €A @ ARG 3 FhEAl B
1. The SCO Film Festival is being held during SR TEEA, e werEE s
India’s Presidency of the Shanghai o v B
Cooperation Organisation. 2. vl R e 3§ wada a9 A
2. SCO Film Festival will showcase the films from frait foraré S|
the SCO countries. i e 4% B o 2 U
Select the correct answer using
below — :::-W -
Code - N
(@) Neither 1 nor 2 (b) Only 1 (@) 7 T‘ﬁ l?ﬂ.ﬁ 2 M’éﬂ? 1
(¢) Both 1 and 2 (d) Only 2 - (c) THT 1 T 2 @Fw@2
137. Who among the following has been named as the 137 ﬁﬁ%@ﬁ LA ?ﬁ \T-??I?I,;OB § TS @
Prime Minister of New Zealand in January, 20237 &Mﬁ%ﬁ & &I H gl Tr:'r W \
(a) Cindy Kiro (b) Carmel Sepuloni (a) ﬁi@ fay (d) ﬁm %qm@g?—n‘rﬁ
(d) Chris Hipkins (c) SfRF=T 31'@_#/_ (d)

(¢) Jacinda Ardern

138. Charak Samhita
chapters and sections? (a) 60 AT AR 8 TS (b) 120 32T 3R 8 T

(a) 60 chaptersand (P 120 chapters and
8 sections 8 sections () 100 3mATT 3R 5 We(d) 80 AT IR 7 W

(c) 100 chaptersand  (d) 80 chapters and

Ssections  TsedlO ot TP

[C-1-23] 153101
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is divided into how many




; iodiversit
139. First National Centre for Marine Biod Y

(NCMB) of India is situated at -
(@) Mumbai (b) puducherry

(c) Bhavnagar (d) Jamnagar

140. What caused wind to deflect towards left in
Southern Hemisphere?
(a) Magnetic Field
(€) Temperature

(b) Coriolis force
(d) Pressure

141- Which type of vaccine protect against
Diphtheria?
(@) Live-attenuated (b) Viral Vector
(¢) Toxoid (d) mRNA

142. The resignation letter by a Judge of Supreme
Court is addressed to -
(@) The President (b) The Prime Minister
(€) The Chief Justice of (d) The senior most
India Judge of Supreme
Court
143. Which of the following is an insectivorous plant?
(@) Nyctanthes (b) Nelumbo
(€) Nicotiana (d) Nepenthes
144. Which of the following is mRNA vaccine used
against Covid-19 infection?
(@) Sinovac (b) Novavax
(€) Moderna (d) Sputnik

145. Which of the following is known as laughing gas?

() Nitrous Oxide (b) Chlorofluro Carbon

(¢) Carbon Monoxide (d) Ammonia

146. When was the Census work done for first time in
India?
(@) In the year 1871 (b) In the year 1881
(©) Inthe year 1850  (d) In the year 1861

147. Which one of the following pairs (Schedule -
Subjects) is not correctly matched?

(@) Third Schedule - Forms of Oaths or
Affirmations

(b) Tenth Schedule -
disqualification on ground of defection
(c) Eight Schedule — Languages
(d) Ninth Schedule — Allocation of seats in the
Council of States

[C-1-23] 153101
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He BR AT aRMgpgpy 5

g =
(Q"ﬂ_ﬂ-q‘;ﬁ) e (b) g
(a)) gfw " (d) SR
C) :
140.;mvﬁmﬁgmmmﬁ?ﬁ?%ﬁm
I BRI 8P i
| s (b) HRIFINT
) e 49 @) qara

(c) dIYHI ) o
141. farq ydR &1 St feefiRal | darar &2

(a) wArgg wef4acs (b) 9rgel ddey
(c) eTh¥IS= (d) U§ 3R U4 U
S 5 ud I BT -y
142. :qa’lw UATAY & U AR

W?-
e afd @l

(b) QuITHHAT &)
() RA @ HeA (d) waTea =TT %
TS BT ateas =y
G

143. fFy=ifaifad § 9§ @19 1F @Tewe gy 27
(a) feefery (b) SregFar
(c) fepifear (d) afers-

144. frfefad § & @19 |1 mRNA 9999 & ores
SWNT HIfIS-19 GHIOT & faog far omar &7
(a) Ry (b) Fraraas

(c) Hiew (@ Tgefis

145-%?%!1%33*#@%@%@[%%3@@&

w9 H ST STar 27
18) TR SfATES B (b) FHRITART FdT 3
(€) BT AT AferTe S (AamIfe o

Gl
14G-Wﬁmﬂmmmmmm%mw
77
(@) 99 1871 8 (b) o9 1881 #
(c) Mso/ﬁ (d) 99 1861 &

17 T A« wie g (afur @y
- fava) w& yafem =4 ¥ T

(@ Frerdt ST — mer AR @ et

O <0l S~ <@ WRadw @ g
Preat

(©) SSdt e — g
() Tl ST — STowRe ¥ et gy e



48 match list-l with list-))

. and ch
answer using the cg e 00se the Correct 148
Biven b G
List = | OW the |ists — -1 A e Afg @en A &Y
List - T TE ¥ W IR P -
(Archaeological site) ! o I
—1 -0

(Present location)

S e
(2) Tamil Nady R 1) XoTeRr
(€] Daaria (3) Maharashtra B~ (o) e
(D) Gudiyam cave ' (4) Karnataka (C) Ersar (3) WERTE
Code - (D) Tf&amm 7yt (4) FATE®
W —

(a) A-(4), B-(3), C-(1), D-(2)
(b) A-(3), B-(2), C-(4), D-(1)

(0) A-(3)| B-(2), C-(4), D-
OB O J'/A: ((3)) B ((4))@ b) Z((:))

(a) A-(4), B-(3), C-[1), D-(2)

(d) A-(3), B-(4), C-(2), D-(1 =
149. Who composed the Golden Globe Award winning 149 Miees ald PR fgren | A AT
song “Naatu Naatu”? TIER & — g
(@) Devi Sri Prasad (b) M.M. Keeravani (@) 24 =N yoT (b
(c) S.S. Rajamouli (d) A.R. Rehman (C) TH.UHITATHA (d) IR, TEFH
150. Which one of the following (Place of the revolt of 150. ¥ Y I @ (1857 fasTE Sk
1857 — Start of rebellion) is not correctly _ RERE F1 AH) T8 W T8 &
matched? (&) R — 45 (b) 5 — 1 7% 1857
(@ Lucknow — 4 June,  (b) Jhansi— 11 May, -
1857
7 ;
1857 122 (€) ¥S — ﬁ, 1857 (d) PR — Ejﬁ,
(d) Barrack—29 March, _—

(c) Meerut — 10 May,

1857 1857

-

T (Y
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Answer Key For Objection
KEY SHEET OF GENERAL STUDIES PAPER-I (GS-23)

BOOKLET :C

| ONO KEY | ONO KEY | ONO KEY | ONO KEY | QONO KEY |
| 1 D | 31 A | 61 C | 91 C | 121 D

| 2 B | 32 D | 62 B | 92 A | 122 C |
| 3 D | 33 C | 63 D | 93 C | 123 B |
| 4 D | 34 A | 64 A | 94 B | 124 D

| 5 B | 35 A | 65 D | 95 D | 125 A |
| 6 A | 36 D | 06 A | 96 A | 126 C |
| 7 A | 37 C | 67 A | 97 C | 127 C |
| 8 D | 38 A | 68 A | 98 C | 128 A |
| 9 C | 39 B | 69 A | 99 B | 129 D

| 10 D | 40 B | 70 C | 100 B | 130 B |
| 11 D | 41 B | 71 A | 101 A | 131 C |
| 12 B | 42 A | 72 A | 102 B | 132 A |
| 13 B | 43 B | 73 B | 103 C | 133 B |
| 14 C | 44  C | 74 A | 104 A | 134 C |
| 15 D | 45 D | 75 B | 105 A | 135 A |
| 16 D | 46 D | 76 C | 106 A | 136 C |
| 17 C | 47 D | 77 D | 107 B | 137 D

| 18 D | 48 B | 78 D | 108 A | 138 B |
| 19 A | 49 B | 79 C | 109 D | 139 D

| 20 D | 50 B | 80 B | 110 ¢C | 140 B |
| 21 D | 51 D | 81 C | 111 B | 141 C |
| 22 A | 52 D | 82 A | 112 D | 142 A |
| 23 A | 53 A | 83 C | 113 A | 143 D

| 24 C | 54 D | 84 A | 114 D | 144 C |
| 25 A | 55 B | 85 B | 115 C | 145 A |
| 26 D | 56 D | 86 A | 116 C | 146 A |
| 27 D | 57 A | 87 C | 117 C | 147 D

| 28 B | 58  C | 88 A | 118 A | 148 C |
| 29 D | 59 A | 89 A | 119 D | 149 B |
| 30 A | 60 D | 90 C | 120 A | 150 B |







